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1 1 1 2 2 2 3 3 3 4 4 4 5 5 5 7 7 7
0121 ql26 ql234 ql212 1219 ql229 ql29 ql213 qi235 ql22 ql210 Ql236 ql214 ql220 1230 qi215 qi225 ql231 gl24 ql22l gl223
1 ql21 100 035 041] 029 021 025 029 025
1 q126 035 100 054| 034 026 020 025 027
1 q12.34 041 054 100| 036 022 034 023 022
2 q1212 029 034 036| 100 033 038 027 0.24 027 032 032 022 024
2 q12.19 021 022| 033 100 044 022 029 024 023 028
2 q12.29 025 026 034 038 044  100| 022 0.20 0.20 032 034
3 q129 020 023 027 022] 100 025 041 022
3 q1213 025 100 029
3 q12.35 041 029  1.00
4 q122 0.24 0.20 100 024 027 030 027
4 g12.10 024 100 048 0.26
4 g12.36 027 048  1.00 021
5 q12 14 027 022 100 050 047] 026
5 ¢12.20 032 029 050 100 053
5 ¢12.30 032 024 020 022 047 053  1.00
q12.15 0.26 100 022
q12.25 022 100 034
q12.31 034 100
7 ql24 029 025 022 023 032 030 100 059 026
7 q1221 025 027 022 024 028 034 0.27 059 100 026
7 q12.23 026 021 026 026 100
8 q127 023 022 023 021
8 q12.24 022
8 q1226 0.24
9 q1211 -0.25
9 q12.16
9 q12.37
10 q12.17 025 031 029 032 0.20 025 027
10 q12.27 -0.23 -025 -023
10 q12.33
11 q128
11 q12.28 023
11 q12.38
4125 -033 -023 -026 -025 -0.20 -024 -022
q12.18
12 39
13 q123
13 q12.22
13 q1232
3-1 39 1 1
0.30 0.20
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q12.1
q12 6

q12.34
q12.12
q12.19
41229
q12.9

q12.13
412 35
q122

q12.10
12 36
q12 14
41220
12 30
q12.15
412 25
q12.31
q12.4

q12.21
41223
q12.7

q12.24
12 26
q12 11
12 16
q12.37
q12.17
q12.27
1233
q12.8

q12.28
12 38
4125

q12.18
12 39
q12.3

41222
q12 32

0.23

0.22
0.23

-0.25

1.00
0.34
0.33

0.34
1.00
0.23

0.33
0.23 0.26
1.00

0.26

0.21 1.00 0.26
1.00 0.21 0.24
0.24 0.26 1.00

-0.23

-0.25
-0.23

0.25
0.31
0.29
0.32

0.25
0.27

-0.36
1.00
0.36

1.00
-0.36
-0.24

-0.24
0.36
1.00

0.24

-0.27
0.29

0.29
0.25

0.24
-0.27

1.00
-0.38
0.42

-0.38
1.00
-051

0.42
-0.51
1.00

-0.33

-0.24
-0.22

1.00

100 033
033 100

100 035 -0.28
035 100 -0.21
-028 -021 1.00
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6 q12 15
6 q12 25
6 q12 31

12 q125
12 q12 18
12 q12 39

11 33

1987

SPSS(Base)

SPSS

SAS

0.2



1 2 3 4 5 6 7 8 9 10 11
5 q12.20 0.775 -0.049 -0.002 -0.011 -0.060 0.009 -0.023 -0.014 0.007 -0.021 -0.016
5 q12.30 0.734 0.068 -0.027 0.016 0.018 0.010 -0.012 0.006 -0.054 -0.057 -0.058
5 gl2 14 0.690 -0.051 0.054 -0.042 -0.016 0.016 0.020 0.055 -0.021 0.047 0.032
1 ql2.34 -0.013 0.815 -0.062 -0.119 0.003 0.052 0.015 -0.007 0.001 -0.010 0.042
1 q126 -0.017 0.698 -0.024 0.097 -0.002 -0.032 -0.043 0.110 -0.016 0.045 -0.054
1 ql21 -0.009 0.420 0.067 0136 -0073 -0.032 -0139 -0.081 0173 -0.005 -0.037
2 1212 0.244 0.281 0.036 0.001 0.095 -0.052 -0.081 -0.037 0.091 0.074 0.155
11 q12.28 -0.025 0.071 -0.738 0.039 -0.021 0.040 0.031 0.118 0.004 -0.003 0.030
11 g12.38 -0.045 0.027 0.692 -0.027 0.011 0.061 0.111 0120 -0.096 -0.020 0.103
11 gi28 0.060 0.005 0.550 0118 -0.022 -0.032 0.019 0.027 0.093 -0.025 -0.076
7 ql2.4 -0.015 -0.002 0.056 0.784 -0.010 0.017 0.010 -0.052 -0.055 -0.020 0.020
7 ql2.21 -0.031 0.037 -0.015 0.726 0.016  -0.007 0.085 0.024 -0.002 0.046 0.037
7 ql2.23 0.023 0.024 -0.003 0.295 0.269 0.049 -0.024 0.075 -0.066 -0.065 -0.030
4 9122 0.012 -0.026 -0.054 0.269 0253 -0015 -0.174 0.027 0175 -0.001 -0.032
4 g12.10 0.011 -0.003 -0.002 -0.012 0.809 -0.024 0116 -0.001 -0.057 0.007 -0.075
4 912 36 -0.073 -0.028 0.022  -0.001 0.610 0.008 -0.021 -0.046 0.056  -0.008 0.083
3 ql2.35 -0.008 -0.024 -0.043 -0.005 -0.035 1.028 0.028 -0.030 -0.004 -0.020 -0.024
3 ql29 0.083 0.095 0.037 0.066 0.116 0.284 -0.280 0.059 0.011 0.111 0.064
3 g1213 0.101 0.015 0.089 0.044 0.066 0231 -0.138 -0.046 0.065 0.083 0.011
9 gl211 -0.039 0.029 -0.001 0.079 -0.026 -0.042 0.648 -0.026 0.035 0.063 -0.056
9 q12.37 0.035 -0.102 0.014 -0.024 0.005 -0.022 0.333 0.127 0.080 0.120 0.107
9 gl2 16 0.003 -0.100 0.079 -0.031 0.090 0.018 0.325 0.068 0.043 0.063  -0.006
10 q12_27 0.044 -0.083 -0.079 0.032 -0.011 -0.020 0.079 0.851 0.050 0.016 0.032
10 1233 0.008 0.174 0.064 -0.012 0.027 -0.029 0.089 0.442 -0.156 -0.091 0.006
10 g12 17 0.116 0.023  -0.203 0.124 0.095 -0.014 0160 -0.325 -0.048 -0.033 0.177
8 ql27 -0.053 0.093 0.047 -0.065 -0.021 0.007 0.128 -0.024 0.622 0.019 0.015
8 (ql2.26 0.007 0.016 -0.056 -0.019 -0.007 -0.012 0.001 -0.057 0.457 -0.039 0.068
8 ql2 24 -0.006  -0.027 0.005 0.037 0.066 0.060 0.313 0.033 0418 -0.108 -0.043
13 g123 -0.061 0.070 0.050 0.046 -0.032 0.039 0.104 -0.010 -0.067 0.646 0.029
13 q12.22 0.080 0.048 -0.045 -0.034 -0.001 0.008 0199 -0.017 0.061 0.532 -0.069
13 12 32 0.033 0.096 0.091 0.029 -0.012 0.033 0.191 0.040 0.109 -0.467 0.026
2 ql2.29 -0.059 0.013 -0.017 0.031 -0.003 0.003 -0.062 0.044 0.028 -0.051 0.813
2 1219 0.202  -0.008 0.005 0.042 -0.045 -0.023 0132 -0.073 0.061 0.030 0.420
33 11
39 867 SPSS Base
p=.043 =257.363 df=220
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11

q12.12

q12.2 7
2 5
q12.2 4
4
q12.12 11 1
2 q12.12 11
2 11
q12.12 2 11
6 2 11 0.505
2 11 59.7 2 11
7 q12.12 11
1 2 3 4 5 6 7 8 9 10 11
1 1.000
2 0249  1.000
3 -0108  -0222  1.000
4 0176 0418 -0004  1.000
5 0247 0089 -0039 0346  1.000
6 0113 0229 0100 0124 0131  1.000
7 -0273 -0138 0112 0087 -0044 -0227  1.000
8 -0266 -0329 0366 -0194 -0111 0112 0167  1.000
9 0202 0318 -0018 0449 0192 0037 0173 -0196  1.000
10 0254 0203 -0178 0140 0180 0164 -0189 -0.101 -0.150  1.000
11 0449 0505 -0.176 0489 0286 0092  -0.007 -0.311 0427 0288 _ 1.000
6 33 11
39 867 SPSS Base
3



® 1212

cos®  0.505
Ae 59.7 K 1
0.155
7 2 x 11 gql2.12
2091212
201219
2ql2 29
8 2

10



10 30 10
p=.088 =206.159 df=180
867 10
1 2 3 4 5 6 7 8 9 10
5 q12.20 0.744 0.002 -0.039 -0.014 -0.052 -0.004 -0.030 -0.019 0.028 -0.014
5 q12.30 0.722 -0.021 0.061 0.010 0.014 0.005 0.001 -0.009 -0.056 -0.063
5 gl2 14 0.699 0.059 -0.030 -0.037 -0.014 0.005 0.036 0.040 0.003 0.063
11 q12.28 -0.021 -0.744 0.071 0.044 -0.025 0.043 0.039 0.108 0.003 -0.003
11 g12.38 -0.015 0.683 0.054 -0.006 0.015 0.054 0.118 0116 -0.063 0.006
11 gi28 0.052 0.554 -0.015 0.105 -0.026 -0.026 0.027 0.023 0.069 -0.039
1 ql2.34 0.014 -0.053 0.852 -0.116 0.022 0.030 0.003  -0.009 0.021 0.004
1 q126 -0.018 -0.021 0.634 0110 -0.005 -0.029 -0.063 0.096 -0.011 0.042
1qg121 -0.015 0.070 0.389 0142 -0065 -0.037 -0171 -0.073 0.182 -0.006
7 ql2.4 -0.014 0.055 -0.008 0.803 -0.017 0.016 0.017 -0.052 -0.052 -0.021
7 ql221 -0.029 -0.016 0.041 0.732 0.017 -0.010 0.085 0.022 0.009 0.047
7 ql2.23 0.013 0.000 0.016 0.293 0.264 0.052 -0.023 0.071 -0.079 -0.074
4 gl22 0.008 -0.054 -0.038 0.271 0252 -0012 -0.184 0.033 0161 -0.014
4 g12.10 -0.007 0.004 -0.006 -0.030 0.806 -0.025 0.100 -0.001 -0.064 0.000
4 912 36 -0.047 0.018 -0.004 0.024 0.603 0.000 -0.030 -0.045 0.082 0.013
3 ql2.35 -0.028 -0.045 -0.034 -0.012 -0.043 1.035 0.035 -0.027 -0.016 -0.029
3 ql29 0.108 0.037 0.107 0.085 0.123 0.284 -0.261 0.054 0.022 0.122
3 g1213 0.113 0.090 0.019 0.048 0.068 0231 -0.126 -0.046 0.068 0.086
9 gl211 -0.067 0.001 0.010 0.069 -0.041 -0.047 0.618 -0.033 0.029 0.048
9 ql2.16 0.016 0.079 -0.096 -0.030 0.073 0.027 0.363 0.045 0.017 0.053
9 qgl2 37 0.068 0.006  -0.077 0.005 -0.002 -0.023 0.362 0.102 0.082 0.127
10 ql12_27 0.041 -0.079 -0.066 0.032 -0.005 -0.023 0.067 0.866 0.059 0.020
10 g12.33 0.001 0.069 0.165 -0.004 0.023 -0.025 0.084 0424 -0.160 -0.091
10 g12 17 0.160 -0.216 0.060 0.170 0.090 -0.028 0175 -0331 -0.001 0.000
8 ql27 -0.043 0.048 0.086 -0.065 -0.013 -0.002 0.095 -0.018 0.648 0.027
8 ql2.26 0.036  -0.059 0.030 0.000 0.002 -0.018 0.001 -0.060 0461 -0.031
8 ql2 24 -0.014 0.008 -0.039 0.024 0.060 0.059 0.298 0.028 0.408 -0.116
13 q123 -0.048 0.055 0.085 0.046 -0.021 0.028 0.099 -0.010 -0.042 0.657
13 q12.22 0.072 -0.045 0.028 -0.039 -0.007 0.009 0.200 -0.024 0.046 0.507
13 12 32 0.030 0.093 0.099 0.036 -0.014 0.031 0.182 0.033 0.105 -0.463
9 30 10 1
39 867 SPSS Base
p=.088 =206.159 df=180
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q12.2

10

10

12 39

1.0

30

10

q12.2
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1 2 3 4 5 6 7 8 9 10
5 q12.20 0.739 0.010 -0.026 -0.015 -0.049 -0.046 -0.019 -0.015 0.036 -0.010
5 q12.30 0.723 -0.023 0.064 0.009 0.015 0.000 0.006 0.009 -0.048 -0.055
5 gl2 14 0.698 0.058 -0.031 -0.035 -0.014 0.048 0.020 0.034 0.001 0.057
11 q12.28 -0.026  -0.746 0.060 0.042 -0.032 0.031 0.032 0.111 0.012 0.002
11 g12.38 -0.019 0.678 0.050 -0.008 0.015 0.120 0.052 0111 -0.064 0.006
11 gi28 0.054 0.545 -0.017 0.109 -0.026 0.029  -0.006 0.035 0.073 -0.040
1 ql2.34 0.014 -0.055 0.834 -0.115 0.017 0.007 0.057 -0.018 0.019 0.000
1 ql26 -0.009 -0.022 0.633 0.112 0.000 -0.064 -0.021 0.103 -0.009 0.047
1qg121 -0.006 0.081 0.417 0131 -0041 -0.193 -0.062 -0.042 0.192 0.010
7 ql24 -0.017 0.059 0.003 0.790 -0.015 0.011 0.014 -0.054 -0.050 -0.017
7 ql221 -0.031 -0.016 0.032 0.742 0.007 0.076  -0.002 0.010 0.009 0.044
7 ql2.23 0.013 -0.009 0.012 0.291 0.256  -0.020 0.064 0.084 -0.074 -0.074
4 gl22 0.014 -0.050 -0.032 0.269 0.266 -0.186 -0.009 0.046 0.166  -0.002
4 91210 -0.006 0.008 -0.011 -0.026 0.785 0.102 -0.015 0.004 -0.063 0.001
4 912 36 -0.049 0.027 0.013 0.013 0.624 -0.040 -0.014 -0.033 0.085 0.024
9 gl211 -0.081 0.011 0.028 0.070 -0.042 0568 -0.123 -0.014 0.039 0.046
9 ql2.16 0.018 0.071 -0.117 -0.036 0.052 0.399 0.047 0.032 0.011 0.047
9 12 37 0.066 0.004 -0.081 0.001  -0.007 0.371 -0.040 0.096 0.092 0.134
3 ql2.35 -0.063 -0.039 -0.018 -0.021 -0.063 0.030 0.864 -0.007 -0.009 -0.033
3 ql29 0.102 0.022 0.077 0.084 0.097 -0.207 0.384 0.029 0.011 0.106
3 g1213 0.107 0.074 -0.012 0.041 0.045 -0.060 0.328 -0.089 0.046 0.059
10 ql12_27 0.051 -0.079 -0.088 0.035 0.001 0.096 -0.005 0.804 0.055 0.024
10 g12.33 0.013 0.053 0.182 -0.003 0.040 0.076  -0.048 0474 -0.151 -0.087
10 g12 17 0.148 -0.214 0.053 0.159 0.082 0191 -0.007 -0374 -0.023 -0.017
8 ql27 -0.038 0.044 0.097 -0.073 0.000 0.093 -0.009 -0.010 0.661 0.032
8 ql2.26 0.050 -0.062 0.026 0.012 0.004 0.027 0.002 -0.071 0432 -0.041
8 ql2 24 -0.021 -0.001 -0.045 0.034 0.049 0.309 0.074 0.009 0.382 -0.140
13 q123 -0.046 0.055 0.090 0.053 -0.023 0.105 0.041 -0.008 -0.038 0.641
13 q12.22 0.068 -0.046 0.037 -0.035 -0.001 0.212 0.021 -0.023 0.041 0.490
13 12 32 0.021 0.089 0.092 0.039 -0.032 0.167 0.028 0.027 0.094 -0.480
10 30 10 2
39 867 SPSS Base
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39 11 10 30
30 10
gl21 1 ql27 8
12 6 1 ql224 8
ql2 34 1 091226 8
gql29 3 gql211 9
ql2.13 3 gl2.16 9
ql2 35 3 01237 9
ql22 4 ql2.17 10
gql2.10 4  ql2.27 10
ql2 36 4 @12 33 10
ql214 5 09128 11
ql2_20 5 01228 11
ql2 30 5 01238 11
gql2 4 7 gl23 13
ql221 7 gl2.22 13
ql2 23 7 01232 13
11 10 30
1987 13 130
1987
2 1
9 o

14



3 0

12 39 867

12 39 867

12-1 10
1987
1987
0 47 54 5.4
1 75 8.7 141
2 118 13.6 27.7
3 151 174 45.1
4 151 174 62.5
5 143 16.5 79.0
6 182 21.0 100.0
867 100.0 100 200 300 400
12-1
0 21 24 24
1 32 3.7 6.1
2 109 12.6 18.7
3 191 22.0 40.7
4 222 25.6 66.3
5 177 204 86.7
6 115 13.3 100.0
867 100.0 100 200 300 400

12-2

15



0 34 39 39
1 67 7.7 11.6
2 171 19.7 314
3 160 185 49.8
4 171 19.7 69.6
5 119 13.7 83.3
6 145 16.7 100.0
867 100.0 100 200 300 400
12-3
0 49 5.7 5.7
1 55 6.3 12.0
2 92 10.6 22.6
3 188 217 44.3
4 160 185 62.7
5 143 16.5 79.2
6 180 20.8 100.0
867 100.0 100 200 300 400
12-4
0 96 111 111
1 105 121 23.2
2 168 194 42.6
3 172 19.8 62.4
4 167 19.3 817
5 86 9.9 91.6
6 73 8.4 100.0
867 100.0 100 200 300

12-5

400

16



400

8
0 67 1.7 1.7
1 86 9.9 17.6
2 190 219 39.6
3 178 205 60.1
4 178 205 80.6
5 99 114 92.0
6 69 8.0 100.0
867 100.0 100 200 300 400
12-6 8
9
0 145 16.7 16.7
1 194 224 39.1
2 211 243 63.4
3 178 205 84.0
4 88 10.1 94.1
5 38 4.4 985
6 13 15 100.0
867 100.0 100 200 300 400
12-7 9
10
0 50 5.8 5.8
1 89 10.3 16.0
2 153 17.6 33.7
3 243 28.0 61.7
4 164 189 80.6
5 92 10.6 91.2
6 76 8.8 100.0
867 100.0 100 200 300
12-8 10

17



11
0 51 5.9 5.9
1 66 7.6 135
2 110 12.7 26.2
3 124 14.3 40.5
4 145 16.7 57.2
5 129 149 721
6 242 27.9 100.0
867 100.0 100 200 300 400
12-9 11
13
0 394 454 454
1 184 21.2 66.7
2 157 18.1 84.8
3 85 9.8 94.6
4 34 3.9 985
5 12 14 99.9
6 1 0.1 100.0
867 100.0 100 200 300 400
12-10 13
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10 14-1 10
X 2% 7
859 100 522 100 337 100
0 a7 5 33 6 14 4
1 75 9 39 7 35 10
2 118 14 70 13 48 14
3 151 18 93 18 57 17
4 151 18 92 18 56 17
5 143 17 82 16 60 18
6 182 21 113 22 67 20
0% 10% 20% 30%
: % : v
2 | X "2=
3 —— | df=
s — 3
5 | E<5 0
6 —— |
14-1 1

4946

0.551
14

X 72=9.799

p=0.133

p:

2254635 (n=522)

1439065 (n=337)
-0.287
0.774

20



859 100 522 100 337 100
0 21 2 12 2 9 3
1 32 4 19 4 13 4
2 109 13 62 12 46 14
3 191 22 116 22 73 22
4 222 26 138 26 79 23
5 177 21 110 21 67 20
6 115 13 65 12 50 15
0% 10% 20% 30%
0 é l l
1 i | X "2
2 | X N)=
3 _‘ df=
4 —— =
5 E<5 0
—
14-2 3

p:

2248375 (n=522)

1445325 (n=337)
-0.109
0914

21



859 100 522 100 337 100
0 34 4 24 5 10 3
1 67 8 45 9 22 7
2 171 20 112 21 57 17
3 160 19 99 19 59 18
4 171 20 99 19 72 21
5 119 14 67 13 49 15
6 145 17 76 15 68 20
0% 10% 20% 30%
—1 | X "2
) — X "2=
3 — | df=
4 ‘ =
5 | E<5 0
—— =
14-3 4

p:

2137010 (n=522)

155669.0 (n=337)
-3.076
0.002

22



859 100 522 100 337 100
0 49 6 31 6 18 5
1 55 6 31 6 24 7
2 92 11 56 11 35 10
3 188 22 117 22 67 20
4 160 19 94 18 64 19
5 143 17 87 17 55 16
6 180 21 106 20 74 22
0% 10% 20% 30%
0 | l
1 1 | X "2
2 ‘ X 2=
3 — df=
4 — =
5 peeee— E<5 0
6 DE— |
14-4 5

p:

2228050 (n=522)

1465650 (n=337)
-0.474
0.636

23



859 100 522 100 337 100
0 96 11 55 11 40 12
1 105 12 67 13 35 10
2 168 20 107 20 61 18
3 172 20 105 20 66 20
4 167 19 104 20 61 18
5 86 10 44 8 41 12
6 73 8 40 8 33 10
0% 10% 20% 30%
— X2
2 ——" X 2=
3 — df=
4 =
5 | E<5 0
6 1
14-5 7

p:

2199630 (n=522)

149407.0 (n=337)
-1.284
0.199

24



859 100 522 100 337 100
0 67 8 50 10 17 5
1 86 10 52 10 32 9
2 190 22 108 21 79 23
3 178 21 107 20 70 21
4 178 21 107 20 70 21
5 99 12 60 11 38 11
6 69 8 38 7 31 9
0% 10% 20% 30%
0 | l
—= : X "2
2 ——— X "2=
3 eeee— df=
4 =
5 E | E<5 0
6 1 1
14-6 8

p:
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